[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

9] 1%} 123 0
x x x x
g g g g
£ = 10t s ©
B 8 g
=
=]
3
E 102
10°F E
b 10E
o v E T T T N I o o
g a4k i {1 [ ] : g §
o[ TELLELE il il .
924 6 8 10 6 6 101214 16 18 20 0 12 14 16 18 20 9992 4 6 8 10 12 14 16 18 20
track x2 track x2
Bt
[ Nofreco track vs. 4 ———— Bé erset
2] F 1%} F 2] 0
x o < o x x
g g g g
= 10% 3 10° & s s
g F P ® 8
¥ o
10° ' ' 3
"
102k s :

Ratio

Tt i
RS [ ||v||||||
i

E"' ....,I.:...i:ﬁfﬁ.ﬁ::: B

i lylll

S o o

A
i

Ratio

H :.::;'i:::::i:"éiﬂ:::::"':::::y:"::

Ratio

track x?




	Contents
	Page 1


